

Additional File 1

The inverse iterative map

The inverse map:

$$\begin{aligned}x_2 &= \check{g}_1(s, x_1) \\x_{i+1} &= g_i(x_{i-1}, x_i), \quad 1 \leq i \leq n \\d_T &= \hat{g}_n(x_n, x_{n-1}).\end{aligned}$$

Explicitly we have:

$$\begin{aligned}x_2 &= \frac{a_2 \left\{ \left(s - \frac{x_1}{x_1+a_1} \right) ((x_1 + a_1)(1 - x_1) - c_1 x_1) - b_1 x_1 \right\}}{\left(s - \frac{x_1}{x_1+a_1} \right) ((x_1 + a_1)(-1 + x_1 + e_2) + c_1 x_1) + b_1 x_1}, \\x_{i+1} &= \frac{a_{i+1} \{ x_{i-1} ((x_i + a_i)(1 - x_i) - c_i x_i) - b_i e_i x_i \}}{x_{i-1} ((x_i + a_i)(-1 + x_i + e_{i+1}) + c_i x_i) + b_i e_i x_i}, \quad 1 < i < n, \\d_T &= \frac{(x_n + a_n) \{ x_{n-1} ((x_n + a_n)(1 - x_n) - c_n x_n) - b_n e_n x_n \}}{x_{n-1} x_n (x_n + a_n)}.\end{aligned}$$

By setting $x_0 = 1 - \frac{x_1}{s(x_1+a_1)}$, we can write $\check{g}_1(s, x_1) = g_1(x_0, x_1)$.